Eidon ot

1) Use slower or quicker to fill in the gaps.

Miss Burnett  Miss Ellison- Amy
Smith
45 seconds | minute and 60 seconds
3 seconds

The teachers did 20 star jumps.

Miss Burnett is quicker than Amy.
Amy is quicker than Miss Ellison-Smith.
Miss Ellison-Smith is slower than Miss Burnett.

2) Use ecarlier or later to fill in the gaps to show when the adults arrive at school

Mr Webster is later than Miss Ramsay.
Miss Ramsag is carlier than Mr Webster-

Mr Webster Miss Ramsay
Miss Ellison- Amy Miss
Smith Burnett Miss Burnett is carlier than Amy.
5 past 7 20 past 8 95 0 8 Amy is later than Miss Ellison-Smith..

Miss Ellison-Smith is carlier than Miss Burnett.

3) Use the <, > or = symbols to fill in the gaps.

59 minutes | hour

one hour @ one minute

quarter of an @ 50 minudtes
hour
30 minutes @ half an hour

L5 minutes | hour

L) Can you put these times in order of smallest to [argest?

2 hours

75 minutes

L5 minutes | hour

2 hours

/5 minutes

smallest

largest




